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B. Com. (Third Year)
Term End Examination, June-July, 2018

(Group—I)
Paper Second
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Time : Three Hours ] [ Maximum Marks : 70 f
[ Minimum Pass Marks : 24
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Instructions for Candidate :

Section-A : Question Nos. 01 to 08 are very short answer
type questions. Attempt all questions. Each
qQuestion carries 01 mark. Answer each of
these questions in 1 or 2 words/1 sentence.

Section—B : Question Nos. 09 to 14 are’half short answer

~ type questions. Attempt any four questions.
Each question carries 2-21 marks. Answer each
of these questions in about 75 words or half

page. . A .

Section—C : Question Nos., 15.to 18 are short answer type

~ questions. Attempt any three questions. Each
question carries 05 marks. Answer each of
these questions in about 150 words or one
page.’ T : )

Section-D : Question Nos. 19 to 22 are half long answer
type questions. Attempt any two questions.

- Each question carries 10 marks. Answer each
of these questions in about 300 words or two
pages. ’
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Section—E : Question Nos. 23 and 24 are long answer type
questions. Attempt any ome questiosi. Each
question carries 17 marks. Answer each of
these questions in about 660—750 words or
04—05 pages.
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The form of Balanee Sheet is:

(a) Horizontal

(b) Vertical

(c) Horizontal or Vertical

(d) Horizontal and Verfical

2. i fagmi @ fowmm A mﬁa s’m %
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* Analysis of Pmanclal Statement mvolves

(@) TradingA7c: =~
(b) Profit & Loss A/c
(c) Balance Sheet
(d) All of the above
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Which of the following is non-current assets ?

() Trade Investment

(b) Bills Receivable

(c) Prepaid Expenses ;

(d) Debtors {
4. Pl % Q@ oF-w Ao aate T8 2 2

(@) ITRR F !

(&) et @ free 'f

(@) oTRRi ¥ 0 -

@) wml wuRel @ R

Which of the following is not a cash flow ?
(a) Decrease in debtors
(b) Issue of shares i
(c) Decrease in creditors
(d) Sale of fixed assets

5. AT 60% &M W ReR Wd Redeie AR maw
¥ 9,000 TF ¥ 12,000 ¥, 7 80% &N W @ T
(& 280,000 . !
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If fixed and variable costs at 60% capacity are ¥ 9,000
- and T 12,000 respectively, total cost at 80% capacity -
would be :

(a) 80,000
(b) 25,000
() T24,000
(d) None of these

6. @ W ¥ YW @ T g T 5,750 ¥ Wald
o W e A A R e
P o A9GH 2 6,000 2, A T WE B Bl HAGQ
o :
(31) % 4,250
@) 24,800
(|) T 4,000

(@) T 4,750
In a month payment for wages was ¥ 5,750 when lag in

payment of wages is -:E month. If total wages of

current month are ¥ 6,000; the wages of previous
month was :

(@ 4,250
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(b) T 4,800
(c) ¥4,000
(d 4,750
. mmﬁﬁmuﬁaﬁ%
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Standard costing helps in

. {a) Controlling price
(b) Measuring efficiency
(c) Incfeasing in profit
{d) Reducing losses

8. mﬁlﬁmﬁmaﬁma%mm-mwv@f%?

@) SR(ST-AT)
(@ AR(ST-AT)
(@) SR (ST-ATW)
@ AR(ST-ATW)
‘Which is the correct formula for calculating labour

.. efficiency variance ?
(a8 SR(ST-AT)

" @ ARGT-AT)

(€) SR(ST-ATW)
(d) AR (ST-ATW)
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e :
. (Sectlon—B) _ A i
o, st SR 4 R AR o |
. Define Management Accountmg
10. awammm%? S
What is Accounting Ratio 2 - ... -
1. o yars foww @re ?
What is fund ﬂow statement ? ‘ .
12, e Ve B wEd £ 7 |
- What is called'cash from operation ?
TE v o
-What is margin of safety ? i
{4, AR FEC A FAEEE ? | |
© . Whatjs meantby Fiexible Budget 7; .
: s
(Sectlon—C)
15. oiEIe JuTl BT T HEH ey ?
What is the xmpg[tance of Accountmg RathS ?

16... PR AT, Waf?f we?
What is margmal costmg ?
7, T P ) e et 7
.+, What are'majp pha,racterlstlcs of budgetary control ?

18, WY WA Ry 3 7 o@ 7 & ?
What are the salient features of standard costing ?

~
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(Section—D) '
19. W9 o@ied P fal= goie @ € ? waw ¥

T |

What are the different techniques of Management
Accounting ? Explain them in brief.

20. AAWE v fr=1 voR €

fash g
Ci
® ®)
2013-14 1,20,000 9,000
2014-15 1,40,000 13,000

7% A §Q & 2013-14 U@ 2014-15 9 ¥ AT wE
O gt % o wRadw 7€ gan 2, F=folag &
Waﬂm:

(i) TH-AE AU |

(i) T-fedg R

Gii) T 2014-15 P FRET Wy

(iv) 20,000 FT ot IRl 1 3 for) R

The necessary particulars are as :

Years Sales () Profit (X)
2013-14 1,20,000 9,000
2014-15 1,40,000 13,000

(A-27)
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Assuming that the cost structure and seliing remain the
same in 2013-14 and 2014-15, find out :
(i) Profit-volume ratio.
(ii) Break-even point.
(iii) Margin of safety in 2014-15.
(iv) Sales required to earn profit of ¥ 20,000.

21. Fwed fgam @ & ? T Sqdw aw aml @
g |

What is Budgetary Control ? Point out its objectives
and advantages.

22 FfaRea aaml & arh vl & o IR

S. Q.= 40 ¥fy famm S.P.=% 10 9y fom
A.Q. =48 Ui fm A.P.=T 12%f7 fam
Calculate material variances from the following

information :
S. Q.=40 perkg S.P.=% 10 perkg
A.Q.=48 perkg A.P.=% 12 perkg

) 3

(Section—E)

23, FAME Gt ¥ uRade a1 Rawor @ & ? @ W
YPR 9T T & ? qui g
What is schedule of change in Working Capital ? How
is it prepared ? Explain.
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@ | 0| ® | ©
| 80,000, ). 45, 000 2-9&0-99; 5,000

TR

L
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GG | 80,000 [ 40;000:f:18;000° 16,000
75,0003 42,000 | 22000} “6,000

e 35 it £

e ]
@ | 90,000 | 50,000 24 ooo' [ 7.000
CmE | 85000 | 45000 20,900;,,.5 6,000

~ 1§ 80,000 -} 35,000. 118,000 1-5,000:
(1) mmno%aﬁﬁmzo%mm#ﬁm%l

(ii) Mﬁaﬂmwm ms%aﬂvw

| mmwﬁuﬁamﬁwwmmm
(i) TG T I IR & R @t A W
tsooﬁﬂmmmmﬁl

@iv) mﬂaaﬁmwﬁns,mi&mm%l
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From the foliowhlg.infonnati(;n prepare a Cash Budget
. of Gupta & Co. for April, May, and June 2015 :

Sales | Purchases | Wages | Expenses
January | 80,000 45,000 20,000 5,000
February | 80,000 40,000 18,000 6,000
March | 75,000 42,000 22,000 6,000
April | 90,000 | 50,000 | 24,000 | 7,000
May | 85,000 | 45,000 | 20,000 | 6,000
“June 80,000 35,000 18,000 | 5,000

Additional Itgformations :
(i) 10% of the purchases and 20% of the sales are
cash.
t ‘ . (ii) The average collection period of the company is

| Months

. » % month and credit purchase are paid-off

regularly.
- (iif) Wages are paid half monthly and the rent of ¥ 500
included in expenses is paid monthly.
(iv) Cash balance on April 1 may be taken at
T 15,000.

e o 550
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